APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	ERIC DUNDEE	Page 1 of4
Project: 2016 S	OUTH PARK STREET SANITARY A	SSESSMENT DISTRICT
Contract Number:	7612	Payment Number: 3
OO NOT WRIT	E IN THIS BOX - TO BE CO	MPLETED BY CITY ENGINEERING PERSONNEL ONLY
OTAL FROM PAGE	≣: <u>4</u>	314,832.00
ESS RETAINAGE:		12,461.16
UBTOTAL:		302,370.84
ESS PREVIOUS P	AYMENTS:	132,776.27
CURRENT PAYMEN	IT DUE:	\$ 169,594.57
CONT	RACTOR: CAPITOL UNDERG	ROUND, INC. DATE
NSPECTOR'S CER The un by this	TIFICATE FOR PAYMENT: dersigned Inspector certifies that	to the best of his/her knowledge, the work covered completed in accordance with the contract documents, yient for the amount certified.
INSPÉ	CTOR A	DATE 7-23-
LEASE PROVIDE TH	E TIME PERIOD FOR THIS PAYMI	ENT REQUEST: FROM: (AST = 7, TO: 7-23-16)
	E CONTRACTOR/SUBCONTRACT	ORS THAT WORKED ON PROJECT DURING THIS PERIOD:
	PAYMENT REQUEST SHALL BE S LL PAYMENTS CAN BE PROCESSED	UBMITTED TO THE ENGINEER/INSPECTOR. DEVERY TWO WEEKS.

STREET ACCOUNT NO. 10893-83-170 STORM ACCOUNT NO. 10893-83-174 SANITARY ACCOUNT NO. 10893-83-173

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

CAPITOL UNDERGROUND, INC. 2016 SOUTH PARK STREET SANITARY ASSESSMENT DISTRIC1 CONTRACT NO. 7612

	ACT NO. 7612 NT NO. 3				,	_		_			****** #10		
		1	2 	3	4	5 	6	7	8	9	#10	11 	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
STREET	Γ ACCOUNT NO. 10893-83-170												
10701	TRAFFIC CONTROL	1.00	LUMP SUM	\$4,035.00	\$4,035.00		0.00	\$0.00	0.50	\$2,017.50	0.50	\$2,017.50	50.0%
10721	TRAFFIC CONTROL SIGN - PORTABLE CHANGEABLE MESSAGE	7.00	DAYS	\$125.00	\$875.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10911	MOBILIZATION	1.00	LUMP SUM	\$50,600.00	\$50,600.00		0.00	\$0.00	0.50	\$25,300.00	0.50	\$25,300.00	50.0%
20101	EXCAVATION CUT	570.00	C.Y.	\$26.60	\$15,162.00		500.00	\$13,300.00	0.00	\$0.00	500.00	\$13,300.00	87.7%
20219	BREAKER RUN(UNDISTRIBUTED)	180.00	TON	\$7.60	\$1,368.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20221	TOPSOIL	185.00	S.Y.	\$3.70	\$684.50		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20301	SAWCUT CONCRETE PAVEMENT, FULL DEPTH	1,140.00	L.F.	\$2.00	\$2,280.00		0.00	\$0.00	1,100.00	\$2,200.00	1,100.00	\$2,200.00	96.5%
20321	REMOVE CONCRETE PAVEMENT	1,240.00	S.Y.	\$6.95	\$8,618.00		600.00	\$4,170.00	400.00	\$2,780.00	1,000.00	\$6,950.00	80.6%
20323	REMOVE CONCRETE CURB & GUTTER	1,045.00	L.F.	\$3.55	\$3,709.75		200.00	\$710.00	800.00	\$2,840.00	1,000.00	\$3,550.00	95.7%
20323	REMOVE CONCRETE SIDEWALK & DRIVE	5,935.00	S.F.	\$1.25	\$7,418.75		5,000.00	\$6,250.00	0.00	\$0.00	5,000.00	\$6,250.00	84.2%
20801	SODDING	185.00	S.Y.	\$9.95	\$1,840.75		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30201	TYPE "A" CONCRETE CURB & GUTTER	945.00	L.F.	\$18.10	\$17,104.50		900.00	\$16,290.00	0.00	\$0.00	900.00	\$16,290.00	95.2%
30203	TYPE "X" CONCRETE CURB & GUTTER(UNDISTRIBUTED)	100.00	L.F.	\$18.10	\$1,810.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30301	5 INCH CONCRETE SIDEWALK	5,640.00	S.F.	\$4.40	\$24,816.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30302	7 INCH CONCRETE SIDEWALK & DRIVE	635.00	S.F.	\$5.30	\$3,365.50		200.00	\$1,060.00	0.00	\$0.00	200.00	\$1,060.00	31.5%
40102	CRUSHED AGGREGATE BASE COURSE, GRADATION 2 OR 3	600.00	TON	\$20.75	\$12,450.00		200.00	\$4,150.00	0.00	\$0.00	200.00	\$4,150.00	33.3%
40231	ASPHALT DRIVE & TERRACE(UNDISTRIBUTED)	10.00	S.Y.	\$71.00	\$710.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40403	10 INCH CONCRETE PAVEMENT	1,240.00	S.Y.	\$60.40	\$74,896.00		250.00	\$15,100.00	0.00	\$0.00	250.00	\$15,100.00	20.2%
	SUBTOTALS				\$231,743.75			\$61,030.00	-	\$35,137.50	-	\$96,167.50	41.5%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

CAPITOL UNDERGROUND, INC.
2016 SOUTH PARK STREET SANITARY ASSESSMENT DISTRICT
CONTRACT NO. 7612

	NT NO. 3	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
STORM	ACCOUNT NO. 10893-83-174						I		I		I		I
20217	CLEAR STONE	100.00	TON	\$7.60	\$760.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20336	PLUG PIPE- STORM (EROSION CONTROL)	5.00	EACH	\$60.00	\$300.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21002	EROSION CONTROL INSPECTION	5.00	EACH	\$120.00	\$600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21011	CONSTRUCTION ENTRANCE	2.00	EACH	\$430.00	\$860.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21013	STREET SWEEPING	1.00	LUMP SUM	\$1,760.00	\$1,760.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21032	INLET PROTECTION TYPE C - PROVIDE & INSTALL	5.00	EACH	\$100.00	\$500.00		6.00	\$600.00	0.00	\$0.00	6.00	\$600.00	120.0%
21033	INLET PROTECTION TYPE C - MAINTAIN	10.00	EACH	\$20.00	\$200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21034	INLET PROTECTION TYPE C - REMOVE	5.00	EACH	\$30.00	\$150.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21056	INLET PROTECTION TYPE D HYBRID - PROVIDE & INSTALL	18.00	EACH	\$145.00	\$2,610.00		2.00	\$290.00	0.00	\$0.00	2.00	\$290.00	11.1%
21057	INLET PROTECTION TYPE D HYBRID - MAINTAIN	36.00	EACH	\$20.00	\$720.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21058	INLET PROTECTION TYPE D HYBRID - REMOVE	18.00	EACH	\$30.00	\$540.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90034	STORM WATER & GROUND WATER CONTROL	1.00	LUMP SUM	\$51,200.00	\$51,200.00		0.50	\$25,600.00	0.50	\$25,600.00	1.00	\$51,200.00	100.0%
90035	STORM SEWER - COMPLETE	1.00	LUMP SUM	\$18,900.00	\$18,900.00		0.75	\$14,175.00	0.25	\$4,725.00	1.00	\$18,900.00	100.0%
	SUBTOTALS			-	\$79,100.00			\$40,665.00	•	\$30,325.00	•	\$70,990.00	89.7%
SANITA	RY ACCOUNT NO. 10893-83-173												
20311	REMOVE SEWER ACCESS STRUCTURE	4.00	EACH	\$510.00	\$2,040.00		3.00	\$1,530.00	1.00	\$510.00	4.00	\$2,040.00	100.0%
20314	REMOVE PIPE (SANITARY)	30.00	L.F.	\$34.00	\$1,020.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20335	ABANDON SEWER WITH SLURRY	0.17	C.Y.	\$2,600.00	\$442.00		0.17	\$442.00	0.00	\$0.00	0.17	\$442.00	100.0%
20336	PLUG PIPE- SANITARY(UNDISTRIBUTED)	4.00	EACH	\$380.00	\$1,520.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20501	ADJUST SEWER ACCESS STRUCTURE	1.00	EACH	\$185.00	\$185.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50212	SELECT FILL FOR SANITARY SEWER MAIN	1,063.00	T.F.	\$0.10	\$106.30		450.00	\$45.00	450.00	\$45.00	900.00	\$90.00	84.7%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

CAPITOL UNDERGROUND, INC. 2016 SOUTH PARK STREET SANITARY ASSESSMENT DISTRICT **CONTRACT NO. 7612**

	ACT NO. 7612 NT NO. 3	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
50302	10" PVC SANITARY SEWER PIPE SDR- 35	906.00	L.F.	\$113.10	\$102,468.60		400.00	\$45,240.00	200.00	\$22,620.00	600.00	\$67,860.00	66.2%
50322	10" PVC PRESSURE SANITARY SEWER PIPE	85.00	L.F.	\$125.25	\$10,646.25		50.00	\$6,262.50	200.00	\$25,050.00	250.00	\$31,312.50	294.1%
50353	SANITARY SEWER LATERAL SDR-35	72.00	L.F.	\$3.60	\$259.20		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50354	RECONNECT SANITARY LATERAL	16.00	EACH	\$2,520.00	\$40,320.00		6.00	\$15,120.00	3.00	\$7,560.00	9.00	\$22,680.00	56.3%
50361	WASTEWATER CONTROL	1.00	LUMP SUM	\$1,800.00	\$1,800.00		0.50	\$900.00	0.50	\$900.00	1.00	\$1,800.00	100.0%
50390	SEWER ELECTRONIC MARKERS	30.00	EACH	\$18.00	\$540.00		1.00	\$18.00	4.00	\$72.00	5.00	\$90.00	16.7%
50701	4' DIA. SANITARY SAS	5.00	EACH	\$2,650.00	\$13,250.00		0.00	\$0.00	2.00	\$5,300.00	2.00	\$5,300.00	40.0%
50791	SANITARY SEWER TAP	4.00	EACH	\$1,025.00	\$4,100.00		0.00	\$0.00	3.00	\$3,075.00	3.00	\$3,075.00	75.0%
50801	UTILITY LINE OPENING (ULO) (UNDISTRIBUTED)	3.00	EACH	\$620.00	\$1,860.00		0.00	\$0.00	3.00	\$1,860.00	3.00	\$1,860.00	100.0%
90030	STORM BOX CROSSING(TUNNELING)	1.00	EACH	\$2,075.00	\$2,075.00		1.00	\$2,075.00	0.00	\$0.00	1.00	\$2,075.00	100.0%
90031	SLURRY BACKFILL	15.00	T.F.	\$72.00	\$1,080.00		10.00	\$720.00	0.00	\$0.00	10.00	\$720.00	66.7%
90032	EXCAVATION AND HAULING OF CONTAMINATED	50.00	TON	\$37.00	\$1,850.00		0.00	\$0.00	170.00	\$6,290.00	170.00	\$6,290.00	340.0%
90033	LATERAL TELEVISING	4.00	EACH	\$510.00	\$2,040.00		2.00	\$1,020.00	2.00	\$1,020.00	4.00	\$2,040.00	100.0%
	SUBTOTALS			·	\$187,602.35	•		\$73,372.50	-	\$74,302.00		\$147,674.50	78.7%
CONTR	ACT TOTALS			,	\$498,446.10	ı		\$175,067.50	-	\$139,764.50		\$314,832.00	- 63.2%